utually Exclusive and
on-Mutually Exclusive Events

Mutually Exclusive Events are events which cannot happen in a

single trial (they have no common parts).

Warm up:  What is the probability of rolling a 3 or a 4 with a dice.
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Investigate: We could use a formula to find the probability of 3 or 4.

P(AEB) = P(4)+ P(B)
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This is the probability formula for mutually exclusive events.
(or means add)




Examples:

1. A single die is rolled. What is the probability of rolling a 2 or a 6?

D) of Pley= V4 L = L
P(2) P —t = =

2. A single card is drawn from a standard deck of cards. What is the
probability of drawing a red card or a black queen?
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3. A card 1s drawn from a deck of 52 cards. Use the formula to determine

the probability that: PLAV R PAY PC(R)

A nine of diamonds or a heart 1s drawn
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Two cards are drawn without replacement from a deck of cards.
What is the probability that they both are heartsor they both are spades?
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Two cards are drawn without replacement from a deck of cards.
What is the probability that they both are kings or they both are queens?
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Non-Mutually Exclusive Events are events that can happen at
the same time in a single trial.

The following formula can be used for non-mutually exclusive events.

P(AUB) = P(A)+ P(B)- P(A~ B)

Examples:

1. When randomly selecting a card from a standard deck of
playing cards, what is the probability of drawing a 7 or a heart?

note: one draw could
P(AuB)=P(A)+ P(B)- P(An B)
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2. What is the probability of rolling a 2 or an even number on a die?
PN + P(EN- P(z NE)
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3. Jason rolls 2 dice. What is the probability that his roll results in a
sum that is greater than §a multiple of 57?
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Assignment

Assignment #2 Worksheet
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